EXAM P LE #1 . a. If the rectangular prism shown below was sliced
v vertically (perpendicular to the base), what shape
gf\tg ' would BEST describe the resulting two-dimensional

shape? Gem |
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b. Find the volume. A %
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Question #1:
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a. If the right rectangular prism shown below was sliced
horizontally (parallel to the base), what shape would
BEST describe the resulting two-dimensional shape?
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b. Find the volume. s
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c. Find the surface area.
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EXAMPLE #2: Carlos is putting ag;glp pool in his backyard.
The pool has a radius of 8 feet.

a. Find the area of the pool.
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b. Find the circumference of the
|
pool.
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_ Kevin is planting vegetables in his garden.
Question #2: The garden is in the shape of a circle with a

diameter of 14 feet.

| a. Find the area of the garden.
539 fect®

& b. Find the circumference of the garden.
| 42,9 ek




EXAMPLE #3:  (Name the angle relationship
AND solve for the variable)
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Question #3: (Name the angle AND
solve for the variable)
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EXAMPLE #4:  (Name the angle relationship
AND solve for the variable)
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Question #4: (Name the angle AND
solve for the variable)




EXAMPLE #5:

What is the formula for
a trapezoid?

A= (oo + usty yeheg®
A

What is the difference between
surface area of a 3-D object
and the volume of a 3-D
object?
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Question #5:

a. Jason is building a desk for his

bedroom. He wants the desk to
fit in the corner of his room and

decides to go with a trapezoid
design. If Jason uses the
dimensions shown in the picture
below, how many square feet of
plywood will he need to build the
desk top?
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b. Natalie recently bought a jewelry

box, but she wants to re-cover

the box with a more colorful
fabric. If the jewelry box is a

cube with sides 8 cm long, how
much fabric will Natalie need in
order to cover all sides of the box?
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EXAMPLE #6: Fotmulo e\
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. Alocal bank is advertising that if f you put fo 000 in a savings
account and leave it there for a ear it will earn $342 in interest at
the end of the year. What interest rate/percent is the bank

*

ffering?
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. How much simple interest is earned if Sarah borrows $180 at 4 5%
annua”y for 1% years’ oy, YT ~
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Question #6:

a. How long will Lucy have to wait before for $2500 invested at
6% earns $600 in simple interest? )
tyears
b. You borrow $150 dollars from your parents. They give you
2 years to pay them back and they charge a 3% simple interest.
How much money will you pay in interest by the end of the
2 years? &4

c. Cameron borrowed $780 for 4 years and had to pay back
$951.60 in simple interest. What percent of interest was he
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EXAMPLE #7: PERCENT PROPORTION
(is) part _ T

(of) whole 100

a. 23% of what number is 74?
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b. 89 is what percent of 140?
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Question #7:
a. 97 i1s 54% of what number?

Y% |19

b. What number is 43% of 220?
x=4q4 .l

c. 68 is what percent of 79?
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EXAMPLE #8: PERCENT PROPORTION
(is) part %

(gﬁ) whole 100

a. Sam buys a slice of pizza for $2.49. He pays.5.4% tax and leaves a 15% tip.
N ™ sy A
What is the total cost for the pizza after tax and a tip?

ol x\x_{v_t‘l" Tig: .._...\,<‘°’"‘

— -
2.49° |08 o2 |
X"?'O \2 {ax NEW A24an ] X"‘O-m m'
b. A radio is on sale for $36. This is fo the ori original price. What is the
original price of the radio?
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Question #8:

a. A laptop costs $899. There is a discount for 15% off and there
1s 6.85% tax. How much will you pay for the laptop with the
discount and tax?

2l 44

b. A Nintendo Switch is on sale for $254.15 this is 85% of the
original price. What is the original price?
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EXAMPLE #9: ', W, 12, 13,(14) 15, 18, 18 1
’ 13, 18, 11, 14, 18, 12, 18, 14, 15

(Average)

a. What is the m‘gfn?
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b. What is the median?
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c. What is the mode?
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Question #9:

12,4,15,4,8,12,5,7,1,22

a. What is the mean? 9

b. What is the median? .,

c. Whatis the mode? .y ¢ |2
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Alyssa ate 3 of a cake, while Jessica ate 7of a cake and Joan ate 5 of a cake.

What percent of the cake has been eaten?
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A recipe c}alled for 15 cup of chopped walnuts, ; cup of diced walnuts, as

well as, To CUp of mined walnuts. In total, how many cups of walnuts did the
recipe call for?
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Question #10:

Sarah needs to make a cake and some cookies. The cake requires */s cup of sugar and the
cookies require /s cup of sugar. Sarah has 15/16 cups of sugar. Does she have enough
sugar?
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At a company party, % in attendance are employees. Employees'
spouses are % of the attendance. What is the percentage of the people in
attendance who are not employees or employee spouses?
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J|Savanna 573 miles in 7 hours
4| Tiffany 393 miles in 5 hours
2 McKay 248 miles in 3 hours
¥ Anna 678 miles in 9 hours




Question #11:

Find the best price per ounce.

Cinnamon Toast Crunch | $2.98 for 12.2 ounces
Lucky Charms : $3.90 for 15 ounces 60 \q

2| Corn Pops $1.90 for 10 ounces | J st 5 R y OZ:
el Eoey EHtE B per 0%
Froot Loops 15 $2.99 for 13 ounces




